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oy s 5 | & &3] %
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1 2 3 4 5 6
I <nnuwjht wfuwwnwpubp
1 Il 9p gpnitinh dowlnid U inbinwihnfunid pnynngbipny u3 2400.0 816.0 1958400,0
504 Ynunwlynedny, pwpdnud Epuljuwuiinnpny/0.6543/
U
2 | Stnwinfunud gy dhehtp 7.04d . 2880,0 | 699,0 2013120,0
b d u3
3 N110n, gpniuwnh dpwlynd b intinwithnfunud pnynngtipny 190.0 413.0 78470.0
504 |hgp |
a3
4 | Lnyup IV6g gpniunp 500,0 730,0 365000,0
a3
5 | Lnyup VI0q gpniuinp 310,0 730,0 226300,0
V10q gpnitinh dpwilynud Epuljwiunnpny/0.650%, i3
6 | pwpdnuwi w/hupuwpwihtph Ypw, nbinwthnfund |hgp 90,0 1142,0 102780,0
1.04d
' nnu
7 wntinwthnfunud (hgp 1.04d/ 189,0 313.0 59157,0
1110n gpniunp dpwlynud b inbinwithnfunud pnynngtipny u3
8 1
504 Ynunwlynudny, pwpédnud Epulwyuwiinnpny/0.6543/ =N = e
nnu
9 | Stnwipnfunud guynywn dhehup 7.04d 23750 699,0 1660125,0
u3
10 | Lnyup IV6q gpniunp 7390,0 1374,0 10153860,0
E .
11| Stnwihnfunu gulnywn dhehp 7.0 an 14780,0 | 6990 10331220.0
u3
12 | Lnyup V10g gpniuwnp 1450,0 1872,0 2714400,0
u
13 | Sbnwihnfunud |gulnywn dhohup 7.04d 5 3045,0 699.0 21284550
Lhgph funwgnud wulwingnnuny Jbly htwpny 6 i3
14 | wugnuiny 30ud gtipinh hwuwnnijwdp, oph 1090,0 608.,0 662720,0
nwnpudnuiny
15 | Ynnwjhtu wnniubph winuwhwunu defuwuhqunyg g 6610,0 2164,0 14304040,0
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<nphgnuwlwu Ynpbiph b pwunywsd dwubiph
|wjuwgnwubpnud gpniunh pwunnud

u3
1 Epuljwywinnpny/0.25d3/ 20ud hwuwnnipjwdp, 1327,0 1037,0 1376099,0
pwpdnwd/IV upgh gpniuwn
nnl
2 | nbnuihnfunud (gulnyn 7.04d 2654,0 699,0 1855146,0
3 Lnyu inbnudwubipnul jubwlynwbwywqu)h fuwnunipnh a2 6636.0 1253.0 8314908.0
thnnud h=20ud/C6/,
4 M4550+00-MYU552+30 nbinwdwunwd u2 1656.0 170.0 281520.0
fubwlnwbwdwquiht fuwnumpnh  thnnd h=10ud
5 | Wpdwdyh uwnp dpwdpwynid h=20ud 2 95696,0 1776,0 169956096,0
S U2
6 | gbdbunp wybugnud Tpwnd-124g 92134,0 689,0 63480326,0
u2
7 | Pwpdp dwynnlybiu funpnpwhwinhly w/p h=6ud 92134,0 4157,0 383001038,0
u2
8 | Swp dwupwhwwhly w/pbinnu P "nhy h=4ud 92134,0 4217,0 388529078,0
www | Ywqgbtignud hwdwawiu £ Yunwywpnipjwu 686755.0
29.09.2016pe uhuwh N 38-U npnpdwl (UUS) | '
2.Cunwdbkup 1016107456,0
| Unnuwlubkp
Y d u
g | ruwhbbeh wdpwgnul wdwquynuGuyh 2 498650 | 9860 49166890,0
fuwnunipnny h=20ud
3.Cunwdbtp 49166890,0
IV | Minhukp }
u3 ;
1 Ujwqulnwtwht ghipun funnnjwljubp nwly h=10ud 15,3 5672,0 867816
Utinwnwlw funnnywlh wnbnwnpnud d=325u4; q6.d
2
15.0=39.5Uq; 5=50 234,0 30287,0 7087158,0
hu ut| Uk d bl 2
g | TerabRLGE s Dl e . 2388 | 1814,0 4331832
phunnuwing
3
4 | Yfuwnhputiph dhwany piinnu B15 8.4 101377,0 851566,8
u2
5 | hubwlnwtwdwquiht gbpin C6 h=12ud 5808.0 1195,0 6940560,0
2 u2
6 | Swp dwupwhwwnhly w/ptininu R wnhy h=5ud 7061,0 5153,0 363853330
Clun wuwnhly wanuwzwuwhu uniub, h
7 huh wsinhly wanubpulwkl unbph . 282.0 | 54320 1531824.0
inbmwrnpmd
. d.d
8 | Ubinwnuwluwl funqndwl 57x3,000 4 1410 | 50730 715293,0
u3
pbwnnu B15 4,7 47518,0 223334,6
hwn
UnwiJtinigyw upwu 47,0 18945,0 890415,0
4.Cunwdbup 55145449,2
V | Ununp |




u3

1 Ujwqulnwbwhls 2tipn funnnduljutp nwy h=10ud 3,54 5672,0 200789
5 Ubinwnuwlwt funnnjwlh inbnwnpnd d=325d4; go.d 58.9 30287.0 17839043
198.0=39.5lq; -5u4
3 runnnyuwlutinh gpwdblyniuwgnud Eplptipn nwp u2 60.1 1814.0 109021 4
phunuding
u3
4 | Qjuwnhputph dhwany) paunu B15 29 101377,0 293993,3
u2
5 huSwynwbwlwquihu ppin C6 h=12ud 594.0 1195,0 709830,0
u2
6 Swp dwupwhwwnhy w/ptwnnt R inhy h=4ud 569,0 4172,0 2373868,0
5.Cunwdkup 5290695,9
VI | 2ppnn junpnwlubph dwppnid b YEpwlwigqnud
: Qnynupynit nLtutignn twpptip pwgywdpubiph oprnn u3 154.0 4984.0 767536.0
funnnywlubiph dwppnud dknpny, 15hwn
2 | Pwpanuw atingny,nbnwihnfunud |gulynywn dhohtp 7.04d innu 292,6 1081,0 316300,6
=0.7
3 | 9=0750 umnnduih qfuunhntiiph puwuugnul u3 12 | 101377,0 121652,4
dhwany| piwnnuhg B15-2 hwin
Unyu funnnyuwyh Juph b winwdh hpwlwtwgnid u3
4 2,0 70863,0 143143,3
dhwany| piwnnnuhg B12.5-2 hwn
d=720ud Jbl u ub ]
5 wninuhuts pinnpillih qiunhptnh . 12| 101377,0 121652,4
hpwlwuwgnud dhwény| pinntuhg B15-2 hwwn
Unyu danwnuwlwl fjunnnjwlh Jwph b wnwdh d3
6 2,0
hpwlwbwgnid dhwany| painnupg B12.5-2 huwin 70863.0 Felaa
d=1.0d funnnjwlh guwnhpubph hpwlwuwgnu u3
T
st bty B15-3 58,8 101377,0 5960967,6
Unyu funnnywyp Juph b wnwdh ppwlwuwgnid u3
8
dhwdny| pbiinnuhg B12.5-21 hwn 253 708630 2030458,5
d=2x2d & ub utph L u3
9 x24 pugywdpny funnnywlubiph giluwnhpubiph 131 62751.0 820783 1
relbtph hpwlywuwgnud dhwdény| piinnuhg B15-4 hwn
Lnyu funnnduiyh Juph b wnwdh  hpwlutwgnud u3
10
dhwany| ptinnthg B15-4 hwin 14,0 73729.0 1029256.8
MY4622+42 2x2d pwgdwdpny b&/p funnndwlh
1
byl 401 By NAG-HY hwn 4,0 595795,0 2383180,0
1 u3
Ujwquilynwyduyhts obpin 1,0 6214,0 62140
u3
13 | Onwlubiph hhduwwnwyh dhwény pinnu B15 4.0 60737,0 244162,7
2
14 | Punlywhu spwdblynwwgnud Gplptipun nwp phinnwing u 13.0 3523.0 45658,1
u2
15 | Unubdwiht gpwiblyniuwgnid 7.2 6096,0 43891,2
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u2

16 344 4 12410 427350,8
tplztipnn wwp phunndng
6.Cunwdkup 14665350,7
VIl | &/p hwdwpnyh Jupbp
u3
1 Uywquynwbuwiht stpn Juptiph nwly h=10ud 1na 6214,0 689754
2 t/p hwywpnyh upbiph wbnunpnud L=3.04; 34x30ud hwtn 74 53332.0 3946568.0
swihuph-222q6.4
a2
3 | dwpbph gpwdbiynwgnud biplyptipun nwp phinnudny 279,72 12410 3471325
7.Cunwdbup 4362675.9
Vil | 6/p junpnqul d=1.0d MU607+03
3
. IV6g gpniiunh dpwlynud Epulwiwinnpny/0.6507, u3 820 740.0 60680.0
pwpanud w/huplwpuwihbph Jpu
nnu
2 | Stnwipnfunud gulnywn dhghup 7.0yd 164,0 699,0 114636,0
u3
3 | Lnwup wtinnud Yninwynwing hbwnwnwpa hgph hwdwp 57,0 6140 34998,0
g | MG G-GB00U fntn Yk 8.0 13,0 1961,0 25493,0
wwwwnbinulywnu/Jbpwnwnd ubithwlwuwnhpnep/
u3
4 | Ujwqulnuwbuwght otpin h=10ud 31 6214,0 19139,1
5 | Onulutiph hhduwwwlh Jhwany| pinnnu B12.5 u3 6.8 57871,0 394680,2
hwtn
6 | G/p pinyubiph nbnwnpnud N13 13,0 112860,0 1467180,0
u3
7 | Qfuwnhpubiph dhwany| piwnnu B15 11,4 101377,0 1155697,8
v 2
8 Qtuwnhputiph gpwdblyniuwgnid Bplptipn nwp d 16.4 1241.0 20352.4
phunnuing
u dh dhwa Linnu B12.
g | “neptummdy dnwdegipouny B12A 2 28 | 70863.0 199125,0
2
10 | Puniywjhu gpwdblynuwgnid Bplptipun tnwp phunnudng g 39,0 3523,0 137397,0
u2
1| Unutdwihu gpwdbiyniuwgnid 13.0 6096,0 79248,0
u3
12 | <bwmwnwpé (hgp 57,0 87,0 4959,0
8.Cunwdkup 3713585,6
IX | &/p unnnqul d=1.0d MLE07+03
IV6g gpniunp d 0.650%, a3
1 @ gnnibinh dawljnid kpuljuiunnnnd/0.650°/ 55,0 813.0 44715,0
pwpénud w/hupuwpwihtph Ypw
nnl
2 | Sknwihnund gwynyw dhehup 7.04d 10,0 699,0 76890,0
u3
3 | Lnuup nbnnd ynunwlynuing hitnwnwna thgph hwdwp 66,0 614,0 40524,0




g | Ubnnwnadpuilid=53000 fynnpiulih gqd.d 15,0 1961,0 29415,0
wwwwnbnulwnui/dtpwnwnd ubthwlwuwnhpnep/
a3
5 | Ujwqulynwbwihu stpun h=10ud 32 6214,0 20071,2
d3
6 | Onulubph hhtuwwnwyh dhwany) phnnt B12.5 7.4 57871,0 430560,2
hwwn
7 | &/p pinyubiph nbnwnpnud N13 14,0 112860,0 1580040,0
u3
8 | Yuwnppubiph dhwany| pnnu BIS 1.4 | 101377,0 1155697,8
9 g(fuwnhpubiph gpwdblyntuwgnid Gplpbipn nwp u2 16.4 1241.0 20352.4
phunnuing
u3
10 | dwph b winwdh dhwény pinnu B12.5 2.8 70863,0 199125,0
2
11| Punywhu spwdtiyniuwgnid Gplpbipn nwp phnnung 42,0 3523.0 147966,0
a2
12| Unutdwjhu gpwdbiyniuwgnid 14,0 6096,0 853440
u3
13 | <hwnwnwpd |hgp 66,0 87,0 57420
9.Cunwdkup 38364427
X | Swiwwwphh Yuhwydnpnud
&.u
1 Ubnwnwlwu funnnywly 57x3,0dd * 204,0 5073,0 1034892,0
u3
pbiinnu B15 6,8 47518,0 3231224
hwwn
Luwfuwqgnipwgunn 32,0 18945,0 606240,0
h
Unwtinieyw s 60 | 189450 113670,0
h
Lwunily phwnpwuph wn 5,0 18945,0 94725,0
Stinblwwyntewl hwwn 20,0 15500,0 310000,0
hwtn
Uwwuwpydwu 1,0 18771,3 18771,3
hwn
Lpwgmghs nbinblwinyniewt 4,0 17341,0 69364,0
Qnjniejniu niubgnn Swlwwwphwht Upwuub h
g || R 0L SAR{UITbYSRU KR e 230 | 42000 96600,0
wywinbinwlwynud, yepwnwpd utithwlwUwnhpngp
Upqbjwthwlyngubip
Snynuegniu niubignn dinwnulwt wpgbijwdhwlyngutiph gé.d
1 1
wuwinbnwyw)nid, yepwnwpd ubthwlwuwwnmhpnep 480 1663.0 295302.0
G/p wqnuwlpwlw)ht uniub dnuunwdnud b h
3 | R AT R GaRdunR R 1470 | 36760 540372,0

hwuadunw ubthwlwuwwnhpngp




Linp dEnwnwwl wpgbpwthwlngutinh nbinwnpnud

a.d
3 | (d=Add, puy -4 U, Uhnwnwlwl un, Gutiguuwl - ¢ 2140 | 23479,0 5024506,0
68huin)
i Cl nhwh wwunhly wqnwupwluwhl uniutiph huwtn 923.0 5432.0 5013736.0
wnbtinwnpnud
bppelbytih dwuh bywgémd , (nwwlnpwnwpshs
qunhlyubph oginwgnpddwp 0.35yg-14?
yd
Cwilwunwnuwsd 1.1 2,4 129025,0 314563,0
- 0
Cunhwwnniu 1:2 (1.2.2) 252 63182,0 1594713,7
yd
Cunhwwnn 1:3 (1.5) 8.1 54918,0 4442317
yd
Cunhwwnnu 3:1 (1.6) 2.1 104322,0 219284.8
10.Etimpiisun 16114093,9
Xl | Ywluqwnubp-3 nbn
U3
1 Pnunpwyh thnpnwd dbnpny/ 4.8 7037,0 337776
u3
2 | <hdptiph ppwlwlwgnud dhwény) pivinuny B12.5 3,78 63288,0 239228.6
wnu
Udpwwht guiug 150x1500dd Alll@12dd 0,054 | 688905,0 37200,9
nnu
3 | Ubnwnuwlwu ubpnhp dwubp 0,042 1174230,0 49317,7
nnu
4 | Jwugwnh dGunwnuwlwy dwubp 1.48716 | 186181,0 276880,9
dtinwnulwt funnnywl 100x100x6dd go.d 40,8 15405,0 628524,0
Ubnwnwlwl funnndwly 100x50x644d gd.u 18 12710 202878,0
dbitnwnwwu funnnyuly
6.4 6.9 A !
50x40x304 q 66, 3255,0 27759,5
Ubnwnwlwt funnndwl; 30x40x3dd qd.d 435 2118,0 92133.0
dbnwnulwl funnnjwl 40x40x304 gd.d 41,4 24210 100229.4
Ubnwnuwlwu phpln 6=4dd u2 21 26669,0 560049,0
5 | Lunwpwuutinh hpwlwuwgnud dhwény plivnnuhg B20 U3 0.9 741580 667422
dGnwnwlwu funnnywl gé.u
30x40x3dd/dGnwnwywu funnnduy pm e AhB e
Ubnwnwlwu funnnywl  40x40x3dd g 12 2421,0 29052,0
6 | Ubinwnwlwb dwubph ubpynid nnlu 1,68585 | 14385,0 24251,0
u3
7| Plinnub ptipn h=10ud 1,02 49720,0 507144
u2
8 | Phwnnut uwihlubph wEnwnpnd, 10,2 7395,0 75429,0
gb.d
9 | <wywpnyh phinnub bgpwpwp 30 6910,0 207300,0
11.Cunwdbup 2996308,2
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hwindwéh hhduwunpngiwt wluwwnwuptbph
(2021 pywlutht hpwlubiwgytihp)

=
=
3 Y 5 ey
NN = g £s 58
Upuwwnwlptbph widwlnuip = E 3% 2
E/ll 3 3 = 5 [ 3
2 q = g
3
5]
1 2 3 4 5 6
1 <nnujht wfuwnwupubp
1 II 9p gpniunh dawlynud b inbnwiinfunud pnynnglipny 504 u3 2400.0 816.0 1958400.0
Ynunwynuwing, pwpdnud tpulwdwwnnpny/0.6543/
nnl
2 | Stnwthnfunud jgulnywn dhohup 7.04d 2880.,0 699.0 2013120,0
3 1110n gpniuinp dgwynid b inbinwithntund pnynngtipny u3 190.0 413.0 78470.0
504 (hgp
u3
4 | Lnyup IV6q gpniuwnp 500,0 730,0 365000,0
u3
5 | Lnyup V10q gpniuinp 310,0 730,0 226300,0
V10q gpniuwnh dowlnid Epuljwywnnpny/0.654%, 03
6 | pwpdnd w/hupuwpuwihbph Jpw, mbnwihnfund |hgp 90,0 1142,0 102780,0
1.0y
innl
7 intinwhnfunwd |hgp 1.04d/ 189,0 313.0 59157,0
10n gpniunp dawlnd b imbnwithnfunid prynngtipny u3
8 1250, 925,0 1156250,0
504 Ynunwynwind, pwpanud Lpuljwywnnpny/0.65d3/ 0.0
nnu
9 | Stnwthnfund \guynywn dhehup 7.04d .2375,0 699,0 1660125,0
u3
10| Lnyup IV6g gpniuinp 7390,0 1374,0 10153860,0
U
1| SEnwthnfunud (guiljnyun dhehtp 7.044 e 14780,0 699,0 10331220,0
u3
12 | Lnyup V10q gpniuwnp 1450,0 1872,0 2714400,0
13 | Stnwihnfund guilnyw dhehtp 7.04d it 3045,0 699,0 2128455,0




Lhgph fuinwgnut wulidngnnuny Jdtl htnpny 6

u3

14 1090,0 608,0 662720,0
wugnuwing 30ud sbpwnh hwuwnyejwdp, 9ph twpwdnudnyg
15 | Ynnuyhtu wnniubiph wynuwhwund dfuwuhgidnyg u? 6610,0 2164,0 14304040,0
1.Cunwdkup 0.0 47914297,0
Il | Swiwwwphwiht yuwnwsp 0.0
Znphgnuwlwt Ynpbph U pwunywé dwubiph
|wjuwgnuwiubipnud gpntunp pwtnnud 03
1 Epuljwywinnpny/0.2503/ 20ud hwuwnnipwdp, pwpdnd/IV 1327.0 1037,0 1376099,0
Jungh gpniun
unnu
2 | wbnwihnjunud \gwynywn 7.04d 2654,0 699,0 1855146,0
3 Lnyu mbnwdwubpnud fuwnwwywquiht fuwnunipnh u2 6636.0 1253.0 8314908.0
thnnul h=20ud/C6/,
MY4550+00-M4552+30 inbinwdwunid u2
4 1656,0 170,0 281520,0
fubwynwbwwquwiht fuwnunipnh  thnnud h=10ud
S | Wpdwsdyh uwnp Ybpwdpwynd h=20ud u2 95696,0 1776,0 169956096,0
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